ﬁ.-—éf."-‘i.!:i" ;T_gi",'.} lj' i y=0 _
Ty ¢ X <Dyt ¢ y=0 B pading hra (¥ £

e '.,'Ut- (o flﬂ;f'l 55 U P

w T | Y \ r N
X2y = u Dy = w § =
e LR < LDV LS
4 je . . : 5 NV =] -1 ) n=2
> M:a-'-"-:f leibnitz.  Hheorem = UV 2 DA YA T **;_‘r— A $ ==
i i |
_ Wiy 1 | W
et - 4" ¥ | |
o A : . A=Y \ let f V=)
J | i 1
Il' 1r A
LA ! } | PR | n (
/ = I | ] ]
L L = .
e S\
|_{r 1, |
J
gty
’j ¥
{ 1
1
. = |
i | | L
\J_ |
|I; - LAY G
w|
|.l| J e QK
W ||| ————
Ll A= 0 i“r P ) it [ A
Yy = ) l‘x,‘ 2o = . ir_;f-r’]










